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Test:Math
Attempt ......... questions
" Iflog 31.09 = 1.4926. Find values of the 22Ut sor HZ JW W ue
following. log 0.3109 log 0.3109-%31.09 = 1.4926 /1
2 Iflog2=03010, log 3 =4.4771, g e S s o
log 5= 0.6990, then find the values of ~ 1f1082=0.3010, log 3 =4.4771,
: log 5=0.6990
the fOHOWng. log 35 g ]Og 39
3 y ; ¥ ;
Express the following numbers in ordinary notation. -qu Jﬁ /I’LnGL«FU: Sl ke
9.018 x 100 9.018 x 10
* Prove that: log m"=nlog m log,m"=nlog,m <Ll A =i
> Change each of the following numbers Jnﬁuﬁ'(f }(L;,qusz-,ﬂééuﬁﬁ}ﬁv
from scientific notation to ordinary notation. -'J../
7.61 x 10 7.61 x 104
® Find the common logarithm of each of ..i"}” ({@rbéwld Soske
the following numbers.0.00032 0.00032
" Iflog 31.09 = 1.4926. Find values of the 022 U St somen el St
following. log 310.9 log 310.9 -»31.09 = 1.4926./1

8 blﬁwz;athEgﬂiicq’ju/u(rPc

What replacement for the unknown'in
each of following will make the 7

statement true? logsn =2 logsn=2
Attempt ......... questions
1 - - 3 R a7 ~ S .
Use log tables to find the value of _ :/}’L"‘—"—“ﬁduta‘n?lﬁﬁ—ﬂ- JJ“? o

,[0.7214x20.37 0.7214x 2037

22 ” - 5 £
If A=nr* [find A, when TE=2—72 and r=15 JJ'Tf:?.';?;{I(}’”;’.«{’,JA;’nAznr“ {g
Ir=

2
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